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1. ANH@E

(1) BEKEE (—®REB) 0 0 0 0 0 0 0 0 0 0
(2) BEHEE (Haem) 0 0 0 0 0 0 0 0 0 0
(3) BEF L3I LERALE 0 0 0 0 0 0 0 0 0 0
(4) ZF0ith 0 0 0 0 0 0 0 0 0 0
N 0 0 0 0 0 0 0 0 0 0

2. YHESE
(1) wnEE 241, 698 0 0 0 196, 257 45, 441 241, 698 0 0 0
(2) &#E 698, 974 315, 526 1,499 317,025 284, 940 65, 975 350, 915 31,034 0 31,034
(3) BImIENE 0 0 0 0 0 0 0 0 0 0
(4) Z0ih 0 0 0 0 0 0 0 0 0 0
N B 940, 672 315, 526 1,499 317,025 481,197 111, 416 592, 613 31,034 0 31,034

3. BEER
(1) #HADEEE WEBERUHEESESR) 0 0 0 0 0 0 0 0 0 0
(2) 2Dt 0 0 0 0 0 0 0 0 0 0
N =t 0 0 0 0 0 0 0 0 0 0
1% = i = 940, 672 315, 526 1,499 317,025 481,197 111,416 592, 613 31, 034 0 31,034
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